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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
frafeiRema ot Tes fa
(a) If ‘truth’ is the property of proposition,
then ‘validity’ is the property of .
( Fill in the blank )

M Serer’ I/ QT W, (5@ @ee’ 3]
3991

(<& 31 =@ 1)
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(b)

(c)

(d)

(e)
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(2)

“In an inductive argument, if all the
premises are true, then the conclusion
may either be true or false.” Is the
statement true?

“qB R IS, I bR R

o9 3T W, (903 Pramecdl Fee 27 o 17
SPTOIS 2T A 1”7 9§ SRECHT SForce 2

“Only graduates are eligible for the post™

—transform this ordinary sentence
into a logical proposition.

“@9E WA 92 MR |
AN’ —%&  FYRT IO SFREHS
I6+1Ce] BT 41 |

The opposition of A and E proposition is
called 5

( Fill in the blank )
A 359 9 E 361 e Reafdors QT
BT

( 31 3 o7 37 )
In which figure of syllogism the position of

middle term is predicate in the major
premise and subject in the minor premise?

ARSI LR e S R —
ﬁmwwwwmwmmv

™
L)

( Continued )

(3)

(ff Write one characteristic of symbolic logic.

(8)

(h)

(i)

0)
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AT SRS o1 Caf¥iey forn o

“Classical logic is related to symbolic logic
as embryo to adult organism.” Who said
this?

‘G e deRE Skor KR RO,
RIS SRS TS AT
SREFE R 9eF T |7 @2 SR RIA
e 2

In disjunctive  proposition/alternative
proposition, the logical connective
‘either—or’ is used in its inclusive sense.

( Choose the correct option )

Raes w1/ T© R AT
-G R G LS [ F9 W |

(== Reschr qfR Sferear )

In what condition an implicative function
will be false?

& oo b1 RReIds Fa 7o) 3799

If P is false (F), then what will be the
truth value of Pvp ?

Ik P w19 (F) =, (903 P Vv p I &
2’37
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2. Answer briefly :

(4)

e Teq

(a)

(b)

(c)

(d)

(e)

A23/898

Write two differences between induction
and deduction.

OH SR SR T SR W g
“nef3 o |

Define categorical syllogism.

RTers R g o

What is meant by figures of syllogism?

I g e e

Write two utilities of the uses of symbols.

@ TR 1 Sercarer ot o

Symbolize the following proposition :

“It is false that if he comes then I shall
not go.”

TR AT AOPEE TS o -
‘o B @, T B R oo iy e

{ Continued )

2x5=10

(5)

3. Answer the following questions (any four) : 5x4=20

fRafiRe i B fon (R et wifkin) -

(a) Explain briefly the relation between truth
and validity.

oTe] SIF (YO e TR 4L M 79 |

{b) Test the validity of the mood ‘All" in first

figure.
YW AFES ‘All’ RPT 91 T 3 o
e

(c) Explain the various kinds of general
propositions.

RfSH PR MR IR I 0
(d) What is compound proposition? State

different types of compound propositions
with example.

A@fNF I IR @A ? TRz RdA oo
CTNF /PR T|Y 3]0 |

(e) Construct the truth tables of basic truth
functions. ’

(NRRP 7o) TR STorel ST 457 34 |
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4. Answer the following questions :

(6)

What is logical constant? Is ‘~’ (curl) or
negation a logical connective? If not,
then why? Explain.

S SRR FF QRA? ~* (curl) I F@LF
fiz o e T2 W T, o R0
T 40

e RRA e fam

(a)

(b)

A23/898

What is argument? Discuss broadly the
relation between proposition and argument.

[ I @AWA? T IF &I TR o
TR, SIS 41 |

Or/ i1

What is categorical proposition? Explain
with examples the different types of
categorical proposition.
s 1 I @ AT eera fRaeers
o1 THIIPR 0 3|

Explain with diagram about representation
of oppositions in square of opposition.

RA vfovae v R @
Borgrem $RI AR, B 7219 Imam =1

( Continued )

10x4=40

(c)
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(7)

Or/ 131

What is immediate inference? Mention the
rules of conversion. Can O proposition be
converted? If not, then why? Explain.

YN S I QA ? G
Tt T O 91 RS IR R ? T
R, 3@ R 2 Im =0 1

What is symbolic logic? Describe the
relation between symbolic logic and
traditional logic.

AT RS I @ AR
SEREM W TS SERBET A ST
I AN

Or/7%J

What is simple proposition? Explain the
differences between simple proposition and
compound proposition.

T P IR ARA? A I 9 Qe
T AEA ANLFPRE A 340 |
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(8)

{(d) What is indirect or shorter truth table
method? Explain the characteristics of this
method.

AT T[S SIfer afS I 5 Norel Sifer
S IF QARA? (X & AFRPER I
701

Or/ %

Determine the validity of the following

arguments with the help of direct truth table
method :

ST OS] BT 1T SRS T IS B
@ R

i) p>Oq
~q
So~p
(i) (pvq)Dp
pVvq
o ~p
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